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AR EHREUS I A mﬁ$ﬁ§?%£> SRRS% | w=
[1-1] ($945kmdt.78) 3H23H 10:45~10:55 40 1.2 5.5 [3]
[1-2] (#340kmdt78) 3H23H 10:50~11:10 5.2 1.2 9.0 [36]
[1-3] (#930kmPEILFB) 3H238 13:54~14:17 8.0 1.4 9.4 [21]
[1-4] ($935kmPH) 38238 12:40~13:02 2.8 <1.1 2.3
[1-4) ($935kmiE) 1[E] B 3H24H 10:58~11:09 3.1 <0.99 2
[1-4]) (#935kmP8) 2[E1 B 38248 11:58~12:09 2.4 1.3 2.8
[1-4]) ($435kmPE) 3EI B 38248 12:58~13:09 25 1.2 25 [15]
[1-4]) (#935kmP8) 4[E1 B 38248 13:58~14:09 2.2 1.6 2.2
[1-4]) ($335kmiE) 58] B 38248 14:58~15:09 2.8 1.2 25
[1-4]) (#935kmP8) 6[E B 38248 15:58~16:09 2.1 <1.0 2.2
[1-5] ($925kmEg) FEATRITE 18] B 38230 13:15~13:58 530.0 6.6 55~14.0
[1-5]) ($925kmEE) ZE1TRIE2[E B 3823H 14:30~15:10 180.0 2.3 55~14.0
[1-5] ($925kmEE) E1TRIESE B 38238 15:20~15:59 110.0 2.1 55~14.0
[1-5] ($925kmE) EATRIE 1R B 3H24H 10:06~10:44 5.9 <0.66 5.6
[1-5) ($925kmE) FE1TRIE2E B 3H24H 10:53~11:33 9.2 <0.71 5.6
[1-5] ($925kmEE) E1TRIEIE B 38248 11:44~12:26 12.0 1.1 5.6
[1-5) ($925kmm) FEATHRIE 3825H 11:51~12:38 43.0 2.0 41~55
[1-5] (#925kmRg) 1[E B 38258 13:12~13:42 23.0 14 2
[1-5]) (#925kmFg) 2[a] B 3A25H 14:12~14:42 19.0 1.3 2.8
[1-5] (#925kmFg) 3[E B 38250 15:12~15:42 24.0 25 25
[1-5]) (#925kmFg) 4[a B 3A25H 16:12~16:42 10.0 1.3 2.2
[1-5) (#925kmEg) 18] B 38268 12:47~13:21 13.0 1.3 3.9
[1-5) ($925kmEg) 2[E] B 38268 14:21~14:57 10.0 15 3.9 [71]
[1-5] (¥925kmP) FEATRITE 1[E1 B 38278 12:36~13:26 20.0 0.8 28~38
[1-5) ($925kmEE) 1B B 38278 13:58~14:33 7.1 <0.98 38
[1-5) (#925kmFg) 2[a] B 38278 15:33~16:08 6.6 <1.0 3.8
[1-5) ($925kmEg) 3[E1 B 38278 16:16~16:53 10.0 1.1 38
[1-5] ($925kmEE) ZE1TRIE2[E B 38278 14:43~15:18 55 1.2 2.8~38
[1-5) ($925kmEE) 1B B 38280 9:48~13:03 6.6 0.57 3.0
[1-5) (#925kmFg) 2[a] B 3828H 13:23~14:07 54.0 8.0 3.0
[1-5) ($325kmEg) 3[EI B 38288 14:18~15:19 20.0 3.0 3.0
[1-5) (#925kmFEg) 18 B 38318 12:22~13:12 24.0 45 2.1
[1-5) ($925kmEg) 2[E] B 38318 13:17~14:01 18.0 1.3 2.0
[1-5) (#925kmFg) 3[E B 38318 14:06~14:50 13.0 1.0 1.9
[1-5) ($925kmEg) 4[E1 B 38318 15:00~15:44 13.0 <0.79 2.0
[1-7] ($540kmdt) 1[B] B 3H25H 12:58~13:09 35 <0.99 3.2
[1-7) ($540kmit) 1EIB 3H25H 13:58~14:09 43 1.6 3.2
[1-7] ($540kmdt) 1[E1 B 38250 14:57~15:08 15.0 <0.98 3.2 (7]
[1-7) ($940kmdt) 1[E1 B 38258 15:58~16:09 22.0 1.1 3.2
[1-7) ($540kmit) 1B B 3H26H 11:27~11:38 2.9 1.0 15
[1-7) ($540kmit) 1EIB 3H26H 13:00~13:11 2.2 1.3 15
[1-8]) (#945kmdt) 1[E B 3H28H 13:00~16:00 19.0 3.2 06~1.2 [5])
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[2-1) (¥940kmit.76) 1B B 3H29H 12:50~13:45 4.2 0.73 7.0
[2-1] ($540kmit78) 2[E B 3H29H 13:49~14:46 34 0.79 7.0
[2-1) ($540kmitEE) 3@ B 3H298 14:47~15:50 29 <0.74 7.0
[2-1) ($940kmdL7E) 1[E1 B 3H30H 11:15~11:35 48 1.8 6.7 (61]
[2-1) (¥940kmit.76) 2[5 B 3H30H 12:15~12:35 47 2.00 7.2
[2-1] (#540kmit78) 3[E B 3H30H 13:15~13:35 34 1.80 7.0
[2-1]) (¥940kmit.76) 4[5 B 3H30H 14:15~14:35 28.0 20.00 74
[2-1] (#540kmit78) 5E B 3H30H 15:15~15:35 7.7 1.90 75
[2-4) ($925kmidt) 1[5 B 38298 11:17~12:15 75.0 46.0 1.7
[2-4]) ($925kmdt) 2[E B 3H29H 12:15~13:15 29.0 34.0 0.4
[2-4]) ($925kmdt) 3[E1 B 3H29H 13:15~14:15 32.0 23.0 0.6
[2-4]) ($925kmdt) 4[E B 38298 14:15~15:00 29.0 25.0 05
[2-4]) ($925kmit) 1EIE 38308 11:09~11:29 1.8 0.5 0.0 [80])
[2-4]) ($925kmdt) 2[E1 B 3A308 12:10~12:30 1.6 05 0.8
[2-4]) ($925kmit) 3EIE 3HA30H 13:10~13:30 1.2 0.4 0.2
[2-4]) ($925kmdt) 4[E1 B 3A308 14:10~14:30 15 05 0.3
[2-4]) ($325kmdt) 5B B 38308 15:10~15:30 1.1 <0.49 0.6
[2-7)(#335KmiL78) 3H29H 12:00~13:00 0.95 0.59 8.0
[2-7)(#935Kmdt.78) 38298 13:00~14:00 0.66 <0.70 8.0
[2-7)(#335KmiL78) 38298 14:00~15:00 0.75 £0.76 8.0
[2-7)(#935Kmdt.78) 38298 15:00~16:00 0.90 <0.58 8.0
[2-7)(#335KmiL78) 38298 16:00~17:00 0.69 <0.59 8.0 [46)
[2-7]) (#935kmit.76) 1[5 B 3H30H 12:11~12:31 1.9 1.0 13.9
[2-7) (#435kmit78) 2[E1 B 3H30H 13:11~13:33 1.3 1.0 15.2
[2-7) (#935kmit.76) 3[E B 3H30H 14:11~14:32 89.0 91.0 14.6
[2-7) (#435kmit78) 4[E1 B 3H30H8 15:11~15:32 180.0 140.0 15.0
[3-1) (¥930kmit.76) 1[E B 3H24H 11:20~11:41 43.0 2.0 30
[3-1] (#930kmit78) 2[E1 B 38248 12:20~12:40 3.3 <0.98 30
[3-1) (#930kmit.76) 3[E B 3H24H 13:20~13:42 3.8 1.2 30
[3-1) ($930kmdL7E) 4@ B 38248 14:20~14:42 38 1.5 30
[3-1) (#930kmit.75) 58] B 3H24H 15:20~15:42 33 1.7 30
[3-1) ($930kmdL7E) 1[@1 B 3H26H 11:38~12:00 5.8 48 26 [33]
[3-1) (#930kmit.76) 2[5 B 3H26H 13:18~13:39 5.2 2.2 26
[3-1) ($930kmdL7E) 1[@1 B 3H28H 11:31~11:52 2.6 1.8 26
[3-1) (#930kmit.76) 2[5 B 3H28H 12:53~13:15 2.7 1.2 26
[3-1) (#430kmdLFE) 1E B 3H29H 11:18~11:40 2.4 1.1 18.9
[3-1) ($930km it 7E) 2[E B 38290 13:23~13:50 1.9 <1.0 -
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4k 8 gy 3 oo AR 48 S 5z
AR R L e
3A19A[18:30~1850] 122 ND 72
3H20H|18:30~1850| 203.00 32.20 50
3H218|18:30~1850| 2,50 ND 45
38220|18:30~1850|  3.06 ND 5.2
3H230|19:38~1958|  3.69 120 40
3H24H(18:30~1855|  ND ND 36
(1)(960kmALER) e B To To~1920] 2400 14.20 25
3H26H|18:30~1840| 1.75 ND 25
3H270|18:30~1850 087 ND 35
3H28H|18:33~1843| 113 ND 32
3H290|18:30~1850] 156 ND 21
3H30H|18.40~1900] _ 0.91 ND 2.0
3H218[13.00~13.20  12.80 2.37 4.1
3H220|12:26~12:46| 587 ND 42
3H238[12:50~13:10]  2.99 ND 16.8
3H240[13:30~1350|  5.80 151 100
3H250|12:45~13.05| 587 ND 123
(21 ) (K94 0kmALBR) e Al 12.26~1246] 539 133 78
3A278| 1206~1226 | 2.22 ND 1.2
3A28H| 1206~1225|  1.66 ND 9.6
3A290| 1207~1227| 242 6.79 9.2
3H30H| 1322~1342 | 347 LTD 8.5
3B 220 11:10~11.30] 100 ND 78
3A238[11:31~1151| 147 ND 6.0
3B 248|11:20~11-40] 147 ND 20
3A250|11:25~1145] 215 ND 75
[2-2] (94 5kmit7E) 3H26H|11:10~11:30 1.19 ND 43
3A270| 1050~11:10| 2,97 ND 55
3B 28H| 11:00~1120| 166 0.87 55
3A29A] 11:30~1123|  1.10 2,02 48
3B 300 1137~1157] _ 1.38 11 46
3H21H[12.30~1250| 374 ND 0.9
3B 228|11:32~1152|  3.92 ND 22
3B238[11:50~12:10]  1.75 ND 10
3B248|12:12~12:32| 097 ND -
3B 250 13:33~1353| 37.00 145 08
[2-31 (4 Okm ) 3A268| 1152~12:12| 1.77 ND 08
3B278| 11:48~1208| 107 ND 08
3B 28H| 1139~1159|  ND ND 0.7
3A290| 13:44~1354|  2.29 0.63 0.7
3H30H] 12.25~12:35| 1,59 ND 0.5




4k s gy 3 ZoRR 48 = 5z
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3H21H8|[14:20~14:40| 13.20 0.74 2.8
3H22H([13:35~13:55|  3.81 ND 1.8
3H23H(14:10~14:30| 262 ND 1.1
3H24H|14:55~15:15| 193.00 2.94 1.2
3H25H(14:20~14:40| 16.10 ND 0.7
[2-41(#525kmiL) 3H26HE|13:57~1417| 2,62 ND 13
3H27H([13:38~13:58 1.31 ND 1.4
3H28H| 13:30~13:50 | 16.40 2.80 0.7
3829H( 13:30~13:50 | 63.40 38.60 1.0

3H30H] 14:50~15:10 ND LTD 0.0~1.3
3H208|13:57~14:17| 24.00 1.75 0.6
3H21H|[13:37~13:57| 2.69 ND 0.5
3H22H8(12:32~12:52|  6.29 ND 0.4
3823H|12:50~13:10 1.86 ND 0.5
3H24H(13:21~13:41 1.19 ND -
[2-5] (#940kmEgFE) 3H25H|13:35~13:55 12.40 ND 0.4
3H26H|[11:55~12:15 ND ND 0.6
3H27H| 11:05~11:25 1.04 ND 0.5
3H28H| 11:25~11:45 0.82 ND -
38298] 11:25~11:45 0.89 ND 0.3
3H30H] 11:00~11:20 ND ND 0.3
3H20H|15:25~15:45|  6.89 ND 0.6
3H21H|[15:00~15:20( 28.90 ND 15
3H22H|[14:00~14:20( 17.00 ND 0.6
3H23H(14:15~14:35| 6.93 ND 1.0
3824H8|15:12~15:32| 8.25 ND 1.4
(276194 SkmPa) 3H25H(13:47~14:07| 40.60 ND 1.1
3H27H|[12:30~12:50| 1.55 ND 0.8
3H28H( 13:10~13:30 3.56 ND 0.3
38298] 12:55~13:15 2.68 ND 0.7
3H30H] 12:32~12:52 4.59 1.56 0.3
3H25H|15:05~15:22] 555.00 12.40 12.0
3H26H|14:06~14:26 1.54 ND 8.8
3H827H| 13:51~14:11 1.02 ND 8.7
(2-71 (#93Skm LT 3H28H| 13:39~13:59 2.14 ND 8.4
3H829H( 15:02~15:12 3.51 1.46 8.0

3H30H] 14:05~14:15 1.33 0.89 13.9~15.4
3H24H|[12:05~12:25]  2.71 ND -
3H25H(16:13~16:33| 34.00 ND -
3H826H|15:15~15:35 ND ND -
[2-8) (#950kmdL7E) 3H27H]| 14:52~15:12 ND ND -
3H828H| 14:38~14:58 ND ND -
3829H( 15:59~16:09 1.60 ND 1.6
3H830H] 16:05~16:15 2.09 0.77 —




4k s gy 3 ZoRR 48 = 5z
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3H25H(11:32~11:52| 867 ND -
3H26H|10:10~10:30| 7.98 ND -
3H27H( 10:28~10:48 ND ND -
(2-0)(#4SkmBEALE) =2 A 012~T032] 0.8 ND -
38298( 11:56~12:06 2.53 0.59 —
3H30H] 11:00~11:10 1.54 ND —
[2-10) (#950kmdk) 3H25H|16:25~16:45| 33.60 0.84 -
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[1-1] ($945kmiL7A) 3H31H 11:19 29,000 9,400 4.8 (3]
[2] (#555km It 78) 3H31H 10:20 | 48,000 15,000 4.1 [2)
[2] (#955km It 7H) 38318 11:08 | 24,000 21,000 4.4 [2]
[2] (#955km It 78) 3H31H 14:35 16,000 6,300 2.1 [2)
[3-1] ($530kmiL 78) 38238 11:10 | 200,000 45,000 103.0 [33]
[3-1] ($930kmit#R) 38258 1445 | 251,000 60,100 27.0 [33]
[3-1] ($530kmiL 78) 3H26H 10:55 7,500 1,500 26.0 [33]
[3-1] ($930kmit#R) 382780 12:15 93,000 29,000 26.0 [33]
[3-1] (#530kmiL7a) 3828H 11:18| 110,000 36,000 43.0 [33]
[3-1] ($930kmit7) 38308 11:30 | 190,000 70,000 17.3 [33])
[3-2) (#930km3it7H) 38238 13:17 92,000 15,000 15.0 [34]
[3-3) (#935km7H) 38238 12:50 11,000 3,300 23 [15]
[3-3]) ($935km7E) 38248 12:58 4,900 220 25 [15]
[3-4] ($940kmdt ) 3H8238 11:08 33,000 8,600 2.8 [11]
[3-5] (#550km L 78) 38230 10:30 4,200 770 2.8 [4]
[3-6] (#930kmadL7H) 38238 14:00 70,000 12,000 9.4 [21]
[3-6] (£930kmPE L 7H) 3H26H 15:33 13,000 2,900 6.5 [21]
[3-6] (#930kmadL7H) 3H28H 11:03 14,000 4,600 5.3 [21]
[3-6) ($330kmPE L 78) 38298 11:34| 25,000 7,100 - [21]
[3-7] (#525kmEq) 3H238 13:00 69,000 2,600 14.0 [71]
[3-8) (#925kmEg) 38238 16:22 [ 140,000 2,900 14.0 [71]
[3-9] (#345kmdt) 38258 11:24 6,900 1,600 27 [5]
[3-9] ($945kmdt) 38268 1048 6,900 1,600 1.0 [5]
[3-9] ($345kmdt) 3H26H 12:30 [ 110,000 2,800 1.0 [5]
[3-9] ($945kmdt) 38288 13:00 12,000 4,100 0.6~1.2 [5]
[3-10] (#y40kmdk) 3H25H 12:18 11,000 3,300 3.7 [6]
[3-10] (#940kmiL) 38268 11:12 14,000 3,800 15 [6]
[3-10] (#y40kmdk) 3H28H 10:32 11,000 3,600 1.2 [6]
[3-10] (#940kmiL) 38298 15:20 8,400 3,200 1.3 [6]
[3-10] (#y40kmdk) 38308 15:54 6,100 2,000 14 [6]
[3-10] (#940kmik) 38318 12:18 9,600 4,700 1.3 [6]
[3-11] (#40kmik) 3H25H 12:33 8,000 1,300 3.2 [7]
[3-11] (#940km3k) 382680 11:33 13,000 4,300 15 [7]
[3-11] (#y40km3k) 3H28H 10:38 8,200 2,000 3.3 [7]
[3-12] (#930kmPE L 78) 38250 14:13 29,000 627 30.5 [31]
[3-12] ($930kmPEILFR) 38268 10:15 22,000 1,600 17.8 [31]
[3-12] (#930kmPa L 78) 3H26H 10:40 [ 290,000 33,000 46.0 [31]
[3-12] ($930kmPEILFR) 38268 10:55 15,000 3,000 26.0 [31]
[3-12] (#930kmPa L 78) 38278 11:30 | 120,000 27,000 25.0 [31]
[3-12] ($930kmPEILFR) 38288 10:29 | 120,000 28,000 23.0 [31]
[3-12] (#930kmPa L 78) 38298 9:59 710,000 220,000 18.3 [31]
[3-12] ($930kmPEILFR) 38298 10:57 | 660,000 94,000 430 [31]
[3-12] (#930kmFE L 78) 38298 11:18| 220,000 65,000 18.9 [31]
[3-12] ($930kmFEILFR) 38308 10:50 | 710,000 290,000 16.3 [31]
[3-13) ($330kmiL78) 38250 14:30 | 88,700 9,260 65.0 [32]
[3-13] (#930kmJt78) 3H27H 11:55 | 550,000 80,000 45.0 [32]
[3-13) ($930kmiL 78) 3828H 10:51 | 210,000 9,200 50.0 [32]
[3-13] (#930kmJt 78) 38308 11:08| 260,000 52,000 41.6 [32]
[3-14) ($340km L 78) 38250 15:35 | 73,000 18,000 7.0 [36]
[3-14] ($940kmit.7H) 38268 19:30 49,000 9,300 7.8 [36]
[3-14) ($340kmiL 78) 38280 9:15 65,000 21,000 8.0 [36]
[3-14]) (#940kmit.7H) 38298 9:41 63,000 21,000 6.0 [36]
[3-14) ($540km L 78) 38308 10:18| 71,000 24,000 5.6 [36]
[3-14] ($940km3it.7H) 38318 10:21 59,000 28,000 5.3 [36]
[3-15] (#925kmP) 38250 14:15 560 410 55 [71]




[3-15) (#925kmEE) 38268 12:55 31,000 1,800 3.9 [71]
[3-15) (#925kmEg) 38288 9:54 42,000 1,500 3.0 [71]
[72]) ($930kmEg) 3A31H 12:00 18,000 1,500 15 [72])
[73]) (£935kmT) 3A31H 12:39 13,000 1,100 1.3 [73]
[74]) (#935kmET) 3318 13:18 4,300 330 05 [74])
[75] ($945kmEg) 3H31H 1403 14,000 650 0.7 [75]
[83) (#920kmIt78) 3H8308 15:40 | 340,000 170,000 59.3 [83])
[3-16] ($945kmdt.7H) 3H28H 16:18 7,800 3,500 1.7 -

BEROESL. E=2ITHh—ICLDBIEBEHRETRT .
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- . FE4E - TRETREEEE (Ba/kg) |ZEfma®
FEERth i mETA 4 | EH4 13 &R RE B T T3 e (4 Sv/h) e
($940kmitFE) | BREEH HE #=5 [38188 12:20] 2,520,000 | 1,800,000 30LLE
(#940kmitFE) | BREEH BE =X [3H198 11:40] 845,000 1,010,000 26.5
($940kmitFE) | BREEF HE #=3 [38208 12:40] 2,540,000 | 2,650,000 25.8
(#940kmitFE) | BREEH BE #=x [3H218 12:32] 1,330,000 | 1,240,000 20.4
($940kmitFE) | BREEF HE #=5 [38228 12:00] 1,110,000 | 1,600,000 15.3
(#940kmitFE) | BREEH HE =3 [3823H 11:30] 819,000 1,620,000 16.8
(#940kmitFE) | fREEH HE #=3 [38248 13.05] 805,000 1,050,000 13.2
(#940kmitFE) | BREEH HE =3 38258 12:20( 400,000 398,000 12.3
($940kmitFE) | BREEF HE #=3 [38268 12:00] 1,030,000 | 2,870,000 10.2
(#940kmitFE) | BREEH HE =3 |[38278 11:40[ 508,000 910,000 11.2
(#940kmitFE) | fREEH HE #=3% [38288 11:50] 381,000 480,000 9.6
(#940kmiLiE) | EREEH FET FEx [3H29H 11:10[ 330,000 311,000 9.2
(#940kmiLE) | EREEH HE ZEx [3H30H 12:25] 576,000 | 1,890,000 8.5
(#945kmit78) JIHEET HE #=x |[3H188H 11:45] 173,000 72,800 -
(#945kmdedm) | JIHRHT HME #=3 [38198 11.00] 184,000 65,100 -
(#945kmitFE) | JIRHAT HE #=x [3H208 12:05] 308,000 138,000 4.2
(#945kmdedm) | JIHREHT ME #=3 [38218 12:03] 315,000 120,000 35
(#945kmitFE) | JIRAT HE =% [3H228 11:00] 180,000 89,000 7.8
(#945kmdedm) | JIHREHT HME #=3 [38238 11:30] 170,000 73,700 5.5
(#945kmitFm) [ JIHRAT BE #=x [3H238 11:30] 74,400 23,100 5.5 SEEAL
(#945kmdtFE) | JIRAT HBE X |3H23H 11:30] 46,200 16,000 5.5 xEHY
(#945kmitFE) | JIRAT HE E=E |[3H248 11:20] 141,000 43,200 5.0
(#945kmdedm) | JIHRHT ME #=% [38258 11:30] 155,000 53,000 75
(#945kmiL78) JIHZET HE =3 [38268 11:20] 79,500 54,700 4.3
(#945kmdedm) | JIHREHT ME =3 [3H27H 10:45[ 50,000 32,900 5.5
(#945kmitFE) | JIRAT HE =% |[3H28H 11:05] 46,000 33,600 5.5
(#945kmdbFm) | JI{RHAT ME =R [38298 11:00{ 71,900 67,900 48
#145kmit78) J11{=ET ME X (38308 11:35] 33,500 27,500 4.6
) (394 0kmP8) Hith ME 3 |3H18H 11:35] 36,000 40,100 1.6
1 (#540km7a) HEth BE R [3H19H 11:35] 68,000 38,500 0.8
) (394 0kmPH) Hith HE =3 [3H208 1240 75,700 50,000 0.7
1 (#540km7a) HEth BE =3 [3821H 12:30] 30,800 25,000 0.7
) (394 0kmPH) Hith HE =R 38228 11:30[ 43,200 25,000 14
1 (#540km7a) HEth BE =3 38238 11:50] 24,100 17,000 1.0
) (394 0kmPH) Bt HE =3 38248 11:35[ 29400 32,600 0.5
1 (#540km7a) HEth BE =3 38258 13:28] 23,400 13,700 0.8
) (394 0kmPH) Bt HE =3 [3H26H 11:35[ 33,100 10,700 0.6
1 (#540km7a) HEth BE =3 [3H27H 1145 33,300 19,800 0.4
) (394 0kmPH) Bt HE =3 |[3H28H 11:36] 37,000 22,400 0.7
1 (#940kmPE) BEfih | & TX [3H29H 13:35] 24800 34,500 0.7
1 (#940km7H) HEfh | HE Tx [3H830H 12:30] 18,600 18,800 0.5
(#925kmidt) | EHEET | HE #=% |[3H18H 13:30] 88,600 17,800 -
J(#925kmdt) | BatEET™ | HE #=3 [38198 13.00] 455,000 24,900 -
1(#925kmdt) [ FEHEE™ | ME =3 38208 14:30] 497,000 24,700 3.4
J(#925kmdt) | BAtEET | HME #=5 [38218 14:07] 289,000 13,400 238
1(#925kmidt) [ FEHEE™ | ME =3 [3822H 13:35] 140,000 17,200 1.8
J(#925kmdt) | BAtEET | HME #=3 [38238 14:10] 185,000 17,200 1.1
1(#925kmidt) [ FEHEE™ | ME =3 38248 14:40[ 184,000 27,900 1.2
J(#925kmdt) | BatEET | HME #=5 [38258 14:20] 217,000 18,800 0.7
J(#925kmdt) [ FEHEE™ | ME =3 [3H26H 13:50[ 83,700 10,500 1.3
J(#925kmdt) | BatEET | HME #=5 [38278 13:25] 161,000 39,900 14
J(#925kmidt) [ FEHEE™ | HME #=x [3H288 13:27] 113,000 23,900 0.7
1(#925kmdt) | EARET | ME =35 [38298 13:30( 109,000 17,000 1.0
1(#25kmit) | EAHEET P X [3H30H 14:45] 113,000 13,100 0.0~1.3
#40kmmde) | /MNEF HE =3 [3H18H 12:35] 181,000 28,300 0.9
(#940kmEgdE) | /NERHT HE E=% [3H198 12:15] 201,000 73,800 0.7
(#940kmEgde) [ /MNEFAT HE =3 38208 13:50{ 36,900 11,700 0.6
(#940kmEgdE) | /NERHT HE #=x [3H218 13:40] 20,300 11,200 0.4
(#940kmEgde) [ /MNEFAT HE =3 [3H228 1240 32,000 8,120 0.5
(#940kmEgdE) | /NERHT HE #=x [3H238 12:50] 22,300 10,300 0.5
(#940kmEgde) [ /MNEFAT HE =X 38248 13:18[ 29,700 4,900 0.4
(#940kmEgdE) | /NERHT HE =% [3H25H 11:30] 21,800 8,040 0.4
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ERRER

FEERth i mETA 4 | EH4 13 &R RE B T3] T3 e (4 Sv/h) =
[2-5) ($940kmEaFE) | /INEFHT HE Ex [3H26H 11:50] 25,800 5,150 0.6
[2-5) (#540kmide) | /INEFET HE #=x [3H278 11:10] 18,600 4,970 0.5
[2-5) ($940kmEgFa) | /MNERHT e 3 [3H28H 11:25] 16,700 4,550 -
(2-5) ($940kmEdE) | /INEFRT EEL E¥ [3H29H 11:30] 16,700 3,770 0.3
[2-5) (#540kmiada) | /INEFET HE #=x [3H30H 11:08] 10,300 6,280 0.3

2-6) ($945km) Wham | #E =X [3H18H 13:15] 690,000 17,400 -
[2-6] (#94 5kmFg) Wham | = #=3 [38188 13:40] 468,000 10,100 -
[2-6]) (94 5kmE) WhEm | HE X |38208 15:25] 548,000 17,500 0.6
[2-6] (#94 5kmFg) Wham | = #=3 [38218 1510 115,000 2,380 15
[2-6] ($945kmE) Wh=m | #E =X [3H228 13:50] 448,000 18,600 0.6
[2-6] (#94 5kmFg) Wham | = #=3 [38238 14:20] 451,000 30,300 1.0
[2-6] (#945kmPE) Wh=m | #E =X [3H248 15:00] 454,000 6,210 1.4
[2-6] (#94 5kmFg) Wham | = #=3 [38258 13:45] 170,000 6,860 1.1
[2-6] (#945kmPE) Wham | #E =X [3H26H 13:50] 291,000 12,800 1.0
[2-6] (#94 5kmFg) Wham | = #=5 [38278 12:30] 126,000 7,470 0.8
[2-6]) (94 5kmE) WhEm | HE =3 [3828H 12:50] 71,800 4,370 0.3
[2-6]) (#94 5kmFg) Wham | mE =35 38298 13.05[ 132,000 9,310 0.7
(2-6] ($945kmEg) | LW | HME & [3A30H 12:30] 121,000 10,100 03
[0-7) ($935kmdtFE) | JIRET HE #=3x [3H25H 15:07] 663,000 497,000 12.0
[2-7) ($935kmdtFE) | JI{RHAT HE =3 38268 14:03] 488,000 571,000 8.8
[2-7] (3935kmdtFE) | JIRET HE #=3 [38278 13:44] 402,000 490,000 8.7
[2-7) ($935kmdb#®) | JIRHET HE =X [3H28H 13:39] 443,000 689,000 8.4
[0-7) (#935kmdt7E) | JI{ZRET HE =35 [38298 14:50( 242,000 383,000 8.0
[2-7) ($935kmdt7E) | JIRET F X [3H30H 14:00] 267,000 338000 | 13.9~154
[2-8) ($550kmitdE) | FEh HE #=3x [3H258 16:18] 77,100 40,700 -
[2-8] ($950kmitT®) | FEH HE #=x [3H268 15:13] 39400 24,000 -
[2-8) ($550kmit#E) | FEh HME #=3 [38278 1550] 43,900 44,600 -
[2-8] ($950kmitd®) | FEH HE #=x [3H28H 14:37] 43,300 52,000 -
[2-8]) ($950kmit7R) FETH ME X [3H298 15:50[ 37,100 62,100 1.6
[2-8) (#950kmdbFE) | fFEm | HE X [3H30H 16:05] 33,800 44,300 -
[2-9] ($945kmPEdLTR) | —ARmh | HE X |3H25H 11:40] 73,400 235,000 -
[2-9] ($945kmPEJLR) | ZAR#TH | HE #=x [3H268 10:13] 24,300 106,000 -
[2-9) ($945kmPEdLTR) | — AR | HE Fx |38278H 10:30] 73,400 230,000 -
[2-9] ($945kmPEJLFR) | ZAR#TH | HE #=x [3H28H 10:13] 34,500 223,000 -
[2-9) ($945kmPEILTE) | Z AR | HME X [3H298 11:45[ 34,000 160,000 -
[2-0) ($945kmPEILFE) | Z At | HE ZFx [3H30H 10:35] 31500 153,000 -
[2-10] ($950km3dt) FHh BT HE =3 [3H258 16:20] 29,300 12,500 -
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FRERHh 2 HE A | HH4 £ &R FRER B B T 370 &
EREEHT fEIK K 3B18H 12:20 2,090 511
BREEHT fEK K 3H198 11:36 2,450 940
EREEHT fEIK K 38208 12:40 2,010 437
BREEFT fEK K 38218 12:35 1,720 246
EREEHT fEIK K 38228 12:00 1,330 172
BREEHT fEK oK 382380 12:25 1,260 145
EREEHT fEIK K 38248 13.05 1,330 268
BREEHT fEK K 3258 12:20 1,280 507
EREEHT fEIK K 38268 12:00 835 162
BREEAT fEK Mok [3H278 11:40 828 145
EREEHT fE K #K  [3H28H 11:50 884 183
BREEH [ES ok | 3H208 11:50] 701 158
EREEH Bk ithok | 3A30H 12:25 629 113
BREEH fE+ TiE 3H19H 11:40 | 300,000 28,100
o ERERT: BEL +i# |[3H20H 1240 [ 1,170,000 | 163,000
(2-1] (#940km 3L 75) BREEHT fEt+ i 38218 12:32 | 207,000 39,900
EREEHT &t i 38228 12:00 | 256,000 57,400
BREEHT fEt+ i 38238 12:25| 135,000 32,200
EREEHT fEt i 3H24H 13:05 | 45500 1,870
BREEHT fEt+ i 38250 13:05| 265,000 27,900
EREEHT fEt i 3H26H 12:00 | 564,000 227,000
BREEHT fEt+ i 3H26H 15:20 82,000 28,000
EREEHT =t i 38278 11:40 | 169,000 29,100
BREEHT fEt+ tiE 38278 12:00 69,800 20,800
EREEHT &t i 3H28H 11:50 | 14,000 2,040
BREEHT fE+ +iE |[3A288 1210 23100 860
EREEHT &t i 38298 11:50 | 53,700 5,650
EREE Y BEt tiE | 3H29H 12:10 | 58400 25,100
EREEHT &t iz 38308 12:25 | 89,000 32,300
EREE Y BEt tiE | 3H30H 12:45]| 11,900 408
JIRHET fE+ tiE 38188 11:45 84,300 14,200
JIRET fEt+ T 38198 11:00 85,400 8,690
JIRHET fE+ TiE 38208 12:04 | 151,000 15,100
JIRET fE+ T 38218 12:10 [ 157,000 16,500
JIRHET fE+ tTiE 38228 11:00 [ 38,900 4720
oY (% NI = HT BEL i |3HA23H 11:30 | 44,600 6,010
[2-2] (#345km3L7H) JIRHET fE+ TiE 38248 11:20 | 21,500 1,160
JIRET fE+ T 38268 11:20 29,300 3,760
JIRHET fE+ TiE 38278 10:45 44,900 7,580
JIRET fEt+ T 38288 11:05 31,100 2,470
JI{RET fE+ TiE 38298 11:00 [ 34,400 5,900
)= HET Bt tiE | 3H30H 11:35| 23800 5,280
Bf™ fE+ tiE 38188 11:50 19,300 3,510
Hif fE+ Tz 38198 11:35 6,970 1,260
BfH fE+ tTiE 38208 12:40 5,390 1,250
Hif fE+ Tz 38218 12:30 3,000 390
BfH fE+ tiE 38228 11:30 7,290 1,290
A (4 HAfH et ti# |3H248 11:35| 6,600 1,310
[2-3] (#340km?) BfH fE+ tiE 38258 13:35 5,480 778
Hif fE+ Tz 38268 11:51 5,250 1,010
BfH fE+ TiE 38278 11:45 3,700 796
Hif fE+ Tz 38288 11:37 4,360 1,110
BfH fE+ TiE 38298 13:35 5,080 1,610
At Bt fiE |3A30H 12:30| 5040 834




& 868 gF
I TAHE | B |y | RREH ﬁ%f?f“"ﬁg(?‘éfgf =
EMEET fE+ tiE 3818H 13:30 [ 22,600 3,280
EHEET fE+ +iE | 38198 13.00| 35800 4,040
EMEET fE+ tiE 38208 14:30 | 35,800 4,850
EHEET fE+ +iE | 38218 1407 | 83,200 8,660
EMEET fEt i 382380 1410 | 16,600 1,720
_4Y (% mAnT | Bt tiE | 3A248 1440 | 14900 1,990
(2-41(#y25km3E) EMEET &t i 38250 14:20 2,480 189
EHEET fE+ +iE | 38268 1350 | 15,100 2,490
EMEET fEt i 38278 13:25 10,100 1,520
EHEET fE+ +iE | 3H28H 13:27 7,730 1,330
EMEET fEt i 38298 13:30 9,010 2,200
EAET | Bt tiE | 3A30H 14:45] 14900 3,300
INEFET fEK K 38228 12:40 7,440 107
/NEFHT fEK K 38250 11:38 3,000 800
INEFHET fE+ TiE 38188 12:30 8,170 2,260
/NEFHT fEt+ T 38198 12:15 14,100 4,630
INEFHT fE+ tiE 38208 13:50 10,300 3,020
/NEFHT fE+ T 38218 13:40 4830 910
INEFHET fE+ tiE 38228 11:40 3,220 466
[2-5) ($940kmPE 78) INEFHT fE+ +iE | 3H23H 12550 6,430 1,590
INEFHT fE+ tTiE 38248 13:18 2,830 747
/NEFHT fE+ T 38258 11:39 3,000 800
INEFHT fE+ tiE 3H26H 11:50 1,510 159
/NEFHET fEt T 38278 11:10 2,140 158
INEFHET fE+ tiE 3H28H 11:25 505 59
/INEFHT REK tiE [38298 1130 2,290 161
/NEFHET [E+ TiE 38308 11:02 2,230 947
LhEM fE+ tiE 38198 13:15 12,600 288
LWhER fEL TiE 38208 15:17 14,600 460
LhEM fE+ tiE 38218 15110 | 30,700 1,220
LWhER fEL TiE 38228 13:50 1,960 1,290
LhEM fE+ tiE 38230 1420 | 32,600 840
LAY (4 WheE | Rt ti# | 3H248 1500 | 27,100 951
[2-6] (#345km) LhEM fE+ i 3H25H 13:45| 23,900 519
LWhER fEL TiE 3H26H 13:50 | 41,100 875
LhEM fE+ i 38278 12:30 | 25,100 849
LWhER fEL TiE 3H28H 12:50 11,500 465
Wb | Bt i | 3H29H 13:05[ 15700 617
LWhER fEL +iE 38308 12:30 1,420 ND
JIRET fE+ tiz 38258 15:05| 112,000 21,800
JIRHET fE+ TiE 3H26H 13:59 | 100,000 21,900
7Y (4 JIMRET Bt ti& |[3A27H 1347 | 50800 7,350
[2-71 (13 Skm3L7H) JIRHET fE+ TiE 3H28H 13:39 39,800 4,330
JIE=ET BEL tiE | 3H29H 14:50 | 61,800 23,400
JI{RHET [E+ TiE 38308 14:00 | 42,600 7,750
FEM fE+ iz 3H24H 12:10 [ 41,200 6,850
FEm fE+ TiE 3H25H 16:15 20,800 3,790
FEM fE+ iz 38268 15:13 16,000 3,740
(2-8]1 (¥950kmiLFm) | fFZEh RE+ t# [38278 1454 16,900 3,070
FEM fE+ T 3H288 14:34 22,300 5,320
FEm fE+ TiE 38298 1550 | 25,700 5,800
FEh Bt +iE | 3HA30H 16:05| 20,500 3,360
VNI fE+ tiE 38258 11:35 32,900 9,330
ZAR¥ATH fE+ i 3H26H 10:14 39,000 16,900
oY (4 AW | Bt +TiE | 3A27H 1026 | 49,300 22,700
(2-01(#94 SkmZAL F2) ZAR¥ATH fE+ tiE 3H28H 10:13 34,100 15,700
— AR fE+ TiE 38298 11:45 36,400 21,100
— AT BEL iz 38308 10:35 | 24,000 14,800
[2-10] (#350kmit) FrihET B+ +iE | 38258 16:20 44 3,740
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